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GEOMETRY

Example

1. Divide line segment AB=10 cm into six equal parts.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_blZtMlyIFOzJ


2. In the given figure (not to scale), ABC is an isosceles

triangle in which AB=AC. AEDC is a parallelogram. If

 and , then find .

A. 

B. 

C. 

D. 

∠CDF = 70∘ ∠BFE = 180∘ ∠FBA

30∘

40∘

50∘

80∘

https://dl.doubtnut.com/l/_tEETf6PEKYY1


Answer:

Watch Video Solution

3. In the given figure, ABCD is a cyclic quadrilateral,

 and .  and  are

the angle bisectors of  and  Find 

∠DAB = 50 % ∠ABC = 80∘ ¯̄̄ ¯̄¯EC ¯̄¯̄̄ ¯FG

∠DEC ∠BFC

https://dl.doubtnut.com/l/_tEETf6PEKYY1
https://dl.doubtnut.com/l/_hg3M5CeX3RGV


. 


A. 

B. 

∠FHG

80∘

90∘

https://dl.doubtnut.com/l/_hg3M5CeX3RGV


C. 

D. 

Answer:

View Text Solution

75∘

105∘

4. Find the number of diagonals of a 10-sided polygon.

Watch Video Solution

5. Find the sum of the interior angles of a polygon of 8

sides.

W t h Vid S l ti

https://dl.doubtnut.com/l/_hg3M5CeX3RGV
https://dl.doubtnut.com/l/_qeORcoSjQ8B5
https://dl.doubtnut.com/l/_zMsZBjcU7DMt


Watch Video Solution

6. Construct a triangle , in which base 

 and 

View Text Solution

ABC

BC = 6cm, AB + AC = 9cm ∠ABC = 45∘

7. Construct , whose perimeter is  and

base angles are  and .

View Text Solution

△ ABC 10cm

60∘ 44∘

https://dl.doubtnut.com/l/_zMsZBjcU7DMt
https://dl.doubtnut.com/l/_lHUJKmmZYu0r
https://dl.doubtnut.com/l/_wgukuY8aGW7F


8. Construct a triangle , in which  

 and 

View Text Solution

PQR QR = 4.5cm,

∠Q = 44∘ PQ − PR = 2cm.

9. Construct  in which  

 and 

View Text Solution

△ PQR QR = 2.1cm,

∠P = 46∘ PQ + PR = 5.1cm.

10. Construct a triangle , such that , 

 and the median from  to  is .

View Text Solution

PQR PQ = cm
3

8

QR = 4.3cm Q PR 3.5cm

https://dl.doubtnut.com/l/_1VSdIKXe926A
https://dl.doubtnut.com/l/_z62oxxsmruJr
https://dl.doubtnut.com/l/_azmTfxpsJlhD


11. Construct  in which , 

 and 

View Text Solution

△ PQR QR = 3.4cm

∠P = 50∘ PQ − PR = 1.2cm.

12. Construct  in which 

 and 

View Text Solution

△ PQR

QR = 3.2cm, PQ + PR = 5.9cm

∠R − ∠Q = 60∘

https://dl.doubtnut.com/l/_azmTfxpsJlhD
https://dl.doubtnut.com/l/_BZVc0yJNxMVi
https://dl.doubtnut.com/l/_2wp669lMrZGl


13. Construct a triangle  in which  cm 

 and .

View Text Solution

PQR QR = 4.7

PR − PQ = 2.3cm ∠Q − ∠R = 50∘

14. Construct  in which 

 and 

View Text Solution

△ PQR

∠P = 96∘ , ∠Q = 40∘ PQ + PR = 6cm.

15. Construct a triangle , such that 

 and 

View Text Solution

PQR

∠P = 50∘ , ∠Q = 30∘ PQ − QR = 1.4cm.

https://dl.doubtnut.com/l/_IH42onwcR0T9
https://dl.doubtnut.com/l/_wdeYfXzvYu9g
https://dl.doubtnut.com/l/_1vjftpGpLNu3


16. Construct a quadrilateral ABCD in which AB=4.2 cm,

 and 

.

View Text Solution

∠A = 80∘ , BC = 2.4cm, CD = 3.3cm

AD = 2.4cm

17. Construct a quadrilateral ABCD with AB=4

cm,BC=2.8 cm, CD=4 cm,  and .

View Text Solution

∠B = 75∘ ∠C = 105∘

https://dl.doubtnut.com/l/_1vjftpGpLNu3
https://dl.doubtnut.com/l/_oWNNZDw0Kkqa
https://dl.doubtnut.com/l/_37VTX91na2Qy


18. Construct a quadrilateral ABCD in which AB =4.6 cm

, BC=2.6 cm, CD=3.5 cm, AD=2.6 cm , and the diagonal

AC=4.9 cm. 

Watch Video Solution

19. Construct a parallelogram ABCD, when AB=4 cm,

BC=2.5 cm and .∠B = 100∘

https://dl.doubtnut.com/l/_agi4DfA8X0N5
https://dl.doubtnut.com/l/_CBmyc9NJ5int


Watch Video Solution

20. Construct a parallelogram PQRS, when PQ =3.7cm,

QR =2.3 cm and PR=4.8 cm.

Watch Video Solution

21. Construct a parallelogram PQRS with PR=3 cm ,

QS=4.2 cm, and the angle between the diagonals are

equal to ,

Watch Video Solution

75∘

https://dl.doubtnut.com/l/_CBmyc9NJ5int
https://dl.doubtnut.com/l/_Bn2WJLSptNMR
https://dl.doubtnut.com/l/_0R6FvSu5tMY7


22. Construct a rectangle PQRS with PQ=5.2 cm and

QR=2.6 cm.

Watch Video Solution

23. Construct a rectangle PQRS with PQ=5.3 cm and a

diagonal PR=5.8 cm.

View Text Solution

24. Construct a rectangle PQRS, such that PR=5.2 cm

and the angle between the diagonals is .

Watch Video Solution

50∘

https://dl.doubtnut.com/l/_99FI7mXo2kuo
https://dl.doubtnut.com/l/_HzLea5gMoDkH
https://dl.doubtnut.com/l/_X7lYBcMlkEtJ


25. Construct a square of side 3 cm.

View Text Solution

26. Construct a square with its diagonal as 

View Text Solution

4cm.

27. Construct a rhombus PQRS with PQ=3.6 cm and

.

View Text Solution

∠P = 50∘

https://dl.doubtnut.com/l/_X7lYBcMlkEtJ
https://dl.doubtnut.com/l/_2qsdX4TjxdFu
https://dl.doubtnut.com/l/_8IibLvomS9yq
https://dl.doubtnut.com/l/_o1tqBOC07xfI


28. Construct a rhombus PQRS, such that PQ=3.2 cm

and PR=4.2 cm.

View Text Solution

29. Construct a rhombus  with diagonal 

 and 

View Text Solution

PQRS

PR = 3.4cm QS = 3.6cm.

30. In Fig,  is the center of the circle. Find the angle

of . 


O

△ ABC

https://dl.doubtnut.com/l/_PB8WMWmx7KnE
https://dl.doubtnut.com/l/_Lw6FH3gMPnfh
https://dl.doubtnut.com/l/_M1mzjIVHjsaf


A. 

B. 

C. 

D. 

Answer: A

55∘ , 60∘ , 65∘

50∘ , 65∘ , 45∘

35∘ , 50∘ , 75∘

60∘ , 65∘ , 65∘

https://dl.doubtnut.com/l/_M1mzjIVHjsaf


Watch Video Solution

31. In fig. O is the center of the circle. Find the value of

. 

Watch Video Solution

x

https://dl.doubtnut.com/l/_M1mzjIVHjsaf
https://dl.doubtnut.com/l/_dzFoclfuFgiE
https://dl.doubtnut.com/l/_fZI2QKzHkc6G


32. In Fig, find the value of . 

Watch Video Solution

x

33. A and B are the centers of the circles as shown in

the given figure. The circles interect at C and D. Find

https://dl.doubtnut.com/l/_fZI2QKzHkc6G
https://dl.doubtnut.com/l/_UjlEotgGnDYA


. 


A. 

B. 

C. 

D. 

Answer:

View Text Solution

∠CED + ∠CFD

90∘

135∘

120∘

150∘

https://dl.doubtnut.com/l/_UjlEotgGnDYA


34. In the given figure, AC is the diameter of the circle

on which the point E lies. A,B,C and D are concylic. If

, find the sum of  and . 


A. 

∠ADC = 55∘ ∠DAE ∠DCE

35∘

https://dl.doubtnut.com/l/_UjlEotgGnDYA
https://dl.doubtnut.com/l/_AWzOMKbIaeld


B. 

C. 

D. 

Answer:

Watch Video Solution

55∘

45∘

65∘

35. Construct a segment of a circle with a chord of

length  and containing an angle of . 
8.5cm 55∘

https://dl.doubtnut.com/l/_AWzOMKbIaeld
https://dl.doubtnut.com/l/_GQnSE8BBlxTe


Test Your Concepts

View Text Solution

1. Can a triangle be formed by line segment of lengths

a,b and c, such that ?a > b − c

https://dl.doubtnut.com/l/_GQnSE8BBlxTe
https://dl.doubtnut.com/l/_Gefy8H5DTS3Y


Watch Video Solution

2. Can a triangle be formed by line segment of lengths

a,b and c, such that ?

Watch Video Solution

a = b − c

3. The area of parallelogram on the same base and

between the same parallel lines are ………………..

Watch Video Solution

https://dl.doubtnut.com/l/_Gefy8H5DTS3Y
https://dl.doubtnut.com/l/_xvSBlS2ky3uK
https://dl.doubtnut.com/l/_JoMrWs8ycx9E


4. In a regular polygon, are all the exterior angles

equal ?

Watch Video Solution

5. Can the sum of the two angles of a triangle be less

than the third angles?

Watch Video Solution

6. If all the sides of a polygon are equal, then all its

interior angles must be equal. Is the given statement

true?

https://dl.doubtnut.com/l/_FR3Gwc4nVmp2
https://dl.doubtnut.com/l/_sw4unozFs7Pd
https://dl.doubtnut.com/l/_E4tGektKw4I0


Watch Video Solution

7. If a circle passes through four points, then the four

points are said to be……………………

Watch Video Solution

8. Two circles cannot intersect in more than two

points [True/False].

Watch Video Solution

https://dl.doubtnut.com/l/_E4tGektKw4I0
https://dl.doubtnut.com/l/_WNnNM9T5oSwF
https://dl.doubtnut.com/l/_1zaRgQkhH1Z8


9. Two quadrilaterals of equal perimeters occupy equal

areas. Is this statement always true?

Watch Video Solution

10. Can a polygon have the sum of all its interior

angles equal to ?

Watch Video Solution

810∘

11. The exterior angle of a regular polygon is . The

number of sides of the polygon is………………..

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_i27iVuqM8tEF
https://dl.doubtnut.com/l/_MeyZ0gdLOa5C
https://dl.doubtnut.com/l/_leRroACik3E3


12. A line l intersects a pair of parallel lines. The

exterior angles on the same side of line l are in the

ratio of . The measure of the bigger angle of the

two is……………………..

Watch Video Solution

5: 4

13. If all the sides are equal , then the quadrilateral

must be ______

Watch Video Solution

https://dl.doubtnut.com/l/_leRroACik3E3
https://dl.doubtnut.com/l/_8djC0HZNrFqh
https://dl.doubtnut.com/l/_7ghVrlzs9ZmF


14. In a quadrilateral, ABCD, 

, then the quadrilateral ABCD is……………….

Watch Video Solution

∠DAB + ∠BCD = 180∘

15. If four lines intersect in a plane, at the maximum

how many triangles are formed?

Watch Video Solution

16. If all the angles of a quadrilateral are equal, then

all its sides must be equal. Is the above statement

true?

https://dl.doubtnut.com/l/_AkdZIcKR8UQp
https://dl.doubtnut.com/l/_cayDZKzVpBCF
https://dl.doubtnut.com/l/_HjF2OmlmzSfX


Watch Video Solution

17. If lines  and  pass through a point P, then

they are called…………. Lines.

Watch Video Solution

l1, l2 l3

18. In an isosceles right triangle ABC,  and 

.Then BD=……………… .

Watch Video Solution

∠B = 90∘

¯̄¯̄¯̄BD ⊥ ¯̄̄ ¯̄¯AC ( / / )
AB

2

BC

2

AC

2

https://dl.doubtnut.com/l/_HjF2OmlmzSfX
https://dl.doubtnut.com/l/_FXy4o0TRvVQk
https://dl.doubtnut.com/l/_5eBMKuUnxpVP


19. The sum of all the altitudes in a triangle is ……………

the sum of all the sides. (equal to/less than/greater

than).

Watch Video Solution

20. An angle is  times its supplementary angle. What

is the angle?

Watch Video Solution

2

3

21. Two lines AB and CD intersect at point O.

, then ∠AOD : ∠BOD = 3: 1

https://dl.doubtnut.com/l/_I7YFPbxfRezo
https://dl.doubtnut.com/l/_zdYU1a1qzqFX
https://dl.doubtnut.com/l/_acQ1pxkp9NJM


Watch Video Solution

∠AOD = …………………

22. Are the diagonals of a regular polygon equal in

length?

View Text Solution

23. In a triangle ABC, is  then .

Is the given statement true?

Watch Video Solution

∠B > ∠C, AB > AC

https://dl.doubtnut.com/l/_acQ1pxkp9NJM
https://dl.doubtnut.com/l/_oJqhbHF4Rctf
https://dl.doubtnut.com/l/_kqFqAJDWOHhy
https://dl.doubtnut.com/l/_W8V8txXEOqUc


24. Can the length of the median in a triangle to a side

be less than the corresponding altitude?

Watch Video Solution

25. If d is the distance from a point P to the center of

the circle of radius r and , then the point P

lies………… the circle. (outside/inside/on)

Watch Video Solution

d − r > 0

26. If the longest chord of a circle is of length 14 cm,

then the circumference of the circle is…………. cm.

Watch Video Solution

https://dl.doubtnut.com/l/_W8V8txXEOqUc
https://dl.doubtnut.com/l/_ahG0AWpM790Q
https://dl.doubtnut.com/l/_pByWhfnQDHAt


Watch Video Solution

27. In a triangle, ABC, D is a point on BC, such that AD

is the shortest distance from A to BC and

. Is it possible?

Watch Video Solution

∠ADC = 70∘

28. Can the exterior angle of a polygon be three times

its interior angle?

Watch Video Solution

https://dl.doubtnut.com/l/_pByWhfnQDHAt
https://dl.doubtnut.com/l/_CISQ5MiKOm9i
https://dl.doubtnut.com/l/_ZRXCKYlVw7OO


Short Answer Type Questions

29. If AB and CD are two chords of a circle and

, then the chord which is nearer to the

center is……………………

Watch Video Solution

AB > CD

1. In the following figure, , if 

, , find

PQ ∣ ∣ RS

∠TRS = 105∘ ∠PTR = 35∘ , ∠QPT = a ∘

https://dl.doubtnut.com/l/_uPbqwhh0FBD3
https://dl.doubtnut.com/l/_zl7bIH9ITPWD


the value of a. 

A. 

B. 

C. 

D. 

a = 155∘

a = 165∘

a = 135∘

a = 175∘

https://dl.doubtnut.com/l/_zl7bIH9ITPWD


Answer: C

Watch Video Solution

2. In a triangle ABC,  and 

, prove that .

Watch Video Solution

∠A < ∠B, ∠B > ∠C

∠A = 2∠C AC > BC > AB

3. If two complementary angles are in the ratio ,

find the supplement of the bigger angle.

A. 

B. 

7: 11

105∘

115∘

https://dl.doubtnut.com/l/_zl7bIH9ITPWD
https://dl.doubtnut.com/l/_WU8ptMWy1ZCf
https://dl.doubtnut.com/l/_14Aidqx4BRcy


C. 

D. 

Answer: C

Watch Video Solution

125∘

135∘

4. In the given quadrilateral ABCD , , 

 and . Find the angles 

 and . 


p∘ + q ∘ = 1002

a ∘ = 140∘ r ∘ = (a2 + q ∘ )
1

2

p∘ , q ∘ , r ∘ s ∘

https://dl.doubtnut.com/l/_14Aidqx4BRcy
https://dl.doubtnut.com/l/_8IqUOJ4jdMCW


Watch Video Solution

5. In the following figure, BE is the diameter of the

circle. Find the value of  and . 

View Text Solution

x ∠DAB

https://dl.doubtnut.com/l/_8IqUOJ4jdMCW
https://dl.doubtnut.com/l/_CDscAY3jZwib


6. In the following figure,  is produced to the point

A. Find . 


Watch Video Solution

¯̄̄ ¯̄¯CB

∠BDC

7. If the sum of the interior angles of a polygon is

, then find the number of sides of the polygon.2340∘

https://dl.doubtnut.com/l/_u7126kZ6qKdq
https://dl.doubtnut.com/l/_v1qDK0hpWXlC


Watch Video Solution

8. In the following figure, if O is the center of the circle

and  is the diameter, then find . 


Watch Video Solution

¯̄̄ ¯̄¯AB ∠ACB

https://dl.doubtnut.com/l/_v1qDK0hpWXlC
https://dl.doubtnut.com/l/_ldpaBwdp2ZJN


9.  

In the above figure, find the values of z, if  is two-

third of y which is a complement of .

A. 

B. 

C. 

D. 

Answer: D

x

45∘

45∘

55∘

65∘

75∘

https://dl.doubtnut.com/l/_ldpaBwdp2ZJN
https://dl.doubtnut.com/l/_9oUTzkYC89mA


Watch Video Solution

10. Find the length of the sides of a given parallogram,

if the perimeter of the paralleloram is 24 cm, the

length of perpendicular OF=3cm, OB=5 cm and OC=

. 

View Text Solution

√18cm

https://dl.doubtnut.com/l/_9oUTzkYC89mA
https://dl.doubtnut.com/l/_YydiYGRfD5Xu


11. In the figure given below, OD=OC=OB. Find . 


Watch Video Solution

∠DCB

12. If the sum of the lengths of two diagonals of the

given square ABCD is 24 cm, then find the side of the

https://dl.doubtnut.com/l/_oiFwcm76Y4LB
https://dl.doubtnut.com/l/_yXSZjNmzD9uu


square and the magnitude of AO + OB. 

Watch Video Solution

13. In the following figure, O is the center of the circle.

If  and , find the value of z. 
x = 40∘ x : y = 4: 3

https://dl.doubtnut.com/l/_yXSZjNmzD9uu
https://dl.doubtnut.com/l/_oJhVZ2UP7CJS


Watch Video Solution

14. In the following figure, AD=5.6 cm, AE=

 and , find(x + 1)cm, AB = 8.4cm EC = (x − 1)cm

https://dl.doubtnut.com/l/_oJhVZ2UP7CJS
https://dl.doubtnut.com/l/_kV9lGYR6jJKw


AC. Given that . 


Watch Video Solution

DE ∣ ∣ BC

15. ABCD and BFDC are cyclic quadrilaterals.  is

produced to E. If , then find . 


¯̄¯̄¯̄CD

∠BCE = 45∘ ∠BFD

https://dl.doubtnut.com/l/_kV9lGYR6jJKw
https://dl.doubtnut.com/l/_GDklSIx61v6a


View Text Solution

16. Find  and  in the following

figure, where ABCDE is a semi-circle. 

∠DBA, ∠DAB ∠AED

https://dl.doubtnut.com/l/_GDklSIx61v6a
https://dl.doubtnut.com/l/_MnabN2iGJXIF


Watch Video Solution

17. In the following figure, ABDG is a rectangle with

AB=10 cm and AG=6 cm. Find the areas of

parallelogram ABCF and ABEH. Also find the area of

https://dl.doubtnut.com/l/_MnabN2iGJXIF
https://dl.doubtnut.com/l/_7z9KJkq9hXws


. 


View Text Solution

△ AEB

18. In the following figure,  is produced to E. If 

is the angle bisector of , then find the . 


¯̄¯̄¯̄BD ¯̄¯̄¯̄AD

∠A ∠BCD

https://dl.doubtnut.com/l/_7z9KJkq9hXws
https://dl.doubtnut.com/l/_Ji558F648MhD


Concept Application

Watch Video Solution

1. In the adjoining figure,  is right angled at 

and  is the mid-point of hypotenuse , If 

 and  then find the length

ΔABC C

M AB

AC = 32cm BC = 60cm,

https://dl.doubtnut.com/l/_Ji558F648MhD
https://dl.doubtnut.com/l/_cgGry1nmA9iL


of  


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CM.

32cm

30cm

17cm

34cm

https://dl.doubtnut.com/l/_cgGry1nmA9iL
https://dl.doubtnut.com/l/_Z379I4MthfwH


2. A cyclic polygon has n sides such that each of its

interior angle measures . What is the measures

of the angle subtended by each of its side at the

geometrical center of the polygon.

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

144∘

144∘

30∘

36∘

54∘

https://dl.doubtnut.com/l/_Z379I4MthfwH
https://dl.doubtnut.com/l/_v8CBHQRZX3gO


3. In the following,  is a rhombus,  and 

are the diagonals of the rhombus intersecting at . If

angle , then find the value of angle ORS +

angle OQP. 

A. 

B. 

C. 

D. 

PQRS SQ PR

O

OPQ = 35∘

90∘

180∘

135∘

45∘

https://dl.doubtnut.com/l/_v8CBHQRZX3gO


Answer: A

Watch Video Solution

4. In the following, CDEF is a cyclic quadrilateral. 

and  are the angle bisectors of  and 

respectively. If  and , then find 

¯̄¯̄̄ ¯CG

¯̄̄ ¯̄̄ ¯DH ∠C ∠D

∠E = 100∘ ∠F = 110∘

https://dl.doubtnut.com/l/_v8CBHQRZX3gO
https://dl.doubtnut.com/l/_UEy9YMby06Qo


. 


Watch Video Solution

∠CPD

5. In the following figure,  is an equilateral

triangle.  is parallel to  and equal to half the

ABC

DE BC

https://dl.doubtnut.com/l/_UEy9YMby06Qo
https://dl.doubtnut.com/l/_eYpckOrzEtNw


lengths of BC. If , then

What is the perimeter of triangle ? 


A. 

B. 

C. 

D. 

Answer: C

AD + EC + CB = 24cm

ADE

12cm

16cm

18cm

Cannot be determined.

https://dl.doubtnut.com/l/_eYpckOrzEtNw


Watch Video Solution

6. In , M and N are points on  and ,

respectively, such that , If PM = , PR 

 and , then find 

.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

△ PQR PQ PR

¯̄̄ ¯̄̄ ¯̄MN ∣ ∣ ¯̄¯̄̄ ¯QR x

= x + 9, PQ = x + 13 PN = x − 2

x

10

11

13

15

https://dl.doubtnut.com/l/_eYpckOrzEtNw
https://dl.doubtnut.com/l/_bTxGACCF0DkL


Watch Video Solution

7. In the following figure (not to scale), the chords AC

and BD intersects at E and .

If , find . 


A. 

B. 

C. 

D. 

∠BAE = ∠ECD + 20∘

∠CDE = 60∘ ∠ABE

40∘

60∘

80∘

None of these

https://dl.doubtnut.com/l/_bTxGACCF0DkL
https://dl.doubtnut.com/l/_40haJ8KiX7KK


Answer: A

Watch Video Solution

8. In the following figure,  and  are equal

chords of the circle subtending  and 

at the point H on the circle. If ,

¯̄¯̄¯̄DE ¯̄¯̄̄ ¯FG

∠DHE ∠FHG

∠DHE = 23( )
2

1
2

https://dl.doubtnut.com/l/_40haJ8KiX7KK
https://dl.doubtnut.com/l/_zQ7vowkOvRlG


then find . 


A. 

B. 

C. 

D. 

Answer: C

∠FHG

271

2∘

30∘

23( )
∘1

2

60∘

https://dl.doubtnut.com/l/_zQ7vowkOvRlG


Watch Video Solution

9. The bisector of two adjacent angles in a

parallelogram meet at a point  inside the

parallelogram. The angle made by these bisectors at a

point is ……………………

A. 

B. 

C. 

D. 

Answer: B

h id l i

P

180∘

90∘

45∘

None of these

https://dl.doubtnut.com/l/_zQ7vowkOvRlG
https://dl.doubtnut.com/l/_2wtyUcjz9jR1


Watch Video Solution

10. If  is the measure of an angle which is equal to

its complement and  is the measure of an angle

which is equal to its supplement, then 

is……………………

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x ∘

y ∘

x ∘

y ∘

1

3

0.5

2

https://dl.doubtnut.com/l/_2wtyUcjz9jR1
https://dl.doubtnut.com/l/_0PeN67CiciKg


11. In the following figure, O is the center of the circle.

If , then find the value of 

. 


A. 

B. 

∠MPN = 55∘

∠MON + ∠OMN + ∠MNO
1

2

145∘

162( )
∘1

2

https://dl.doubtnut.com/l/_0PeN67CiciKg
https://dl.doubtnut.com/l/_pfv4Jp0ACRkE


C. 

D. 

Answer: B

Watch Video Solution

158( )
∘1

2

180∘

12. In the following figure,  is right-angled at 

 and  is the mid-point of hypotenuse . If 

△ PQR

R S PQ

https://dl.doubtnut.com/l/_pfv4Jp0ACRkE
https://dl.doubtnut.com/l/_ob5b2BOqtd8J


 and  then find  


A. 

B. 

C. 

D. 

RS = 25cm PR = 48cm, QR.

7cm

25cm

14cm

Cannot be determined. 

https://dl.doubtnut.com/l/_ob5b2BOqtd8J


Answer: C

Watch Video Solution

13. In a cyclic quadrilateral

 and 

, Find .

A. 

B. 

C. 

D. 

Answer: B

PQRS, PS = PQ, RS = RQ

∠PSQ = 2∠QSR ∠QSR

20∘

30∘

40∘

50∘

https://dl.doubtnut.com/l/_ob5b2BOqtd8J
https://dl.doubtnut.com/l/_rGxShE4ZMR3B


Watch Video Solution

14. In the following figure, two isosceles right angled

triangles, DEF and HGI are on the same base  and 

 is parallel to . If DE=GH=9 cm and DH=20 cm,

then the area of the quadrilateral  is…………………. 


A. 99 

B. 

¯̄̄ ¯̄̄ ¯DH

¯̄̄ ¯̄̄ ¯DH ¯̄̄ ¯̄FI

FEGI

cm2

40.5cm2

https://dl.doubtnut.com/l/_rGxShE4ZMR3B
https://dl.doubtnut.com/l/_zjYGPXZLeMHE


C. 

D. 

Answer: A

Watch Video Solution

81cm2

180cm2

15. A pole of height  casts a  long shadow on

the ground. At the same time, a tower casts a 

long shadow on the ground. Find the height of the

tower.

A. 

B. 

14m 10m

70m

50m

78m

https://dl.doubtnut.com/l/_zjYGPXZLeMHE
https://dl.doubtnut.com/l/_etG7q0Aztakr


C. 

D. 

Answer: D

Watch Video Solution

90m

98m

16. The angle subtended by a minor arc in its alternate

segment is…………….

A. acute

B. obtuse

C. 

D. reflex angle.

90∘

https://dl.doubtnut.com/l/_etG7q0Aztakr
https://dl.doubtnut.com/l/_hC7UaJVvK2zc


Answer: A

Watch Video Solution

17. The number of diagonals of a regular polygon is 27.

Then, each of the interior angles of the polygon

is…………………

A. 

B. 

C. 

D. 

Answer: B

( )
∘500

3

140∘

128∘

154∘

https://dl.doubtnut.com/l/_hC7UaJVvK2zc
https://dl.doubtnut.com/l/_p91DHFtcG0EA


Watch Video Solution

18. ABC is a triangle inscribed in a circle, AC being the

diameter of the circle. The length of AC is as much

more than the length of BC as the length of BC is

more than the length of AB. Find AC:AB.

A. 

B. 

C. 

D. 

Answer: A

i l i

5: 3

5: 4

6: 5

3: 2

https://dl.doubtnut.com/l/_p91DHFtcG0EA
https://dl.doubtnut.com/l/_RQEgXjP0pElM


View Text Solution

19.  is the arc of the circle with centers O. If 

 and , then 

 is……………… 


A. 

⌢ (MN)

∠MOR = 100∘ ∠NOR = 135∘

∠ORN + ∠ORM
1

2

1

4

22( )
∘1

2

https://dl.doubtnut.com/l/_RQEgXjP0pElM
https://dl.doubtnut.com/l/_06WgCDrvmgnT


B. 

C. 

D. 

Answer: D

View Text Solution

40∘

125∘

21( )
∘1

4

20. In the following figure (not be scale),

, ,  and ∠BCD = 40∘ ∠EDC = 35∘ ∠CBF = 30∘

https://dl.doubtnut.com/l/_06WgCDrvmgnT
https://dl.doubtnut.com/l/_kjGW5ttI9zyW


, Find . 


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∠DEG = 40∘ ∠BAE

70∘

50∘

110∘

35∘

https://dl.doubtnut.com/l/_kjGW5ttI9zyW
https://dl.doubtnut.com/l/_ugt6Rxs72XxC


21. In the following figure (not to scale), .

If  and , then find 

. 

Watch Video Solution

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄CD

∠BAE = 25∘ ∠DCE = 30∘ ∠AEC

22. A tower of height 60 m casts a 40 m long shadow

on the ground. At the same time, a needle of height 12

https://dl.doubtnut.com/l/_ugt6Rxs72XxC
https://dl.doubtnut.com/l/_ihjgOv6wM9h8


m casts a  cm long shadow the ground. Find 

A. 6

B. 8

C. 10

D. 14

Answer: B

Watch Video Solution

x x

23. In the given figure, AC is the diameter, AB and AD

are equal chords. If , then find .∠AED = 110∘ ∠BAD

https://dl.doubtnut.com/l/_ihjgOv6wM9h8
https://dl.doubtnut.com/l/_jhEd65muPqjr


A. 

B. 

C. 

D. 

40∘

55∘

110∘

120∘

https://dl.doubtnut.com/l/_jhEd65muPqjr


Answer: A

Watch Video Solution

24. In the given rectangle ABCD, the sum of the

lengths of two diagonals is equal to 52 cm and E is a

point in AB, such that  is perpendicular to .

Find the lengths of the sides of the rectangle, if OE=5

cm. 

A. 

¯̄̄ ¯̄¯OE ¯̄̄ ¯̄¯AB

24cm, 10cm

https://dl.doubtnut.com/l/_jhEd65muPqjr
https://dl.doubtnut.com/l/_1DwA5y3EaIAL


B. 

C. 

D. 

Answer: A

Watch Video Solution

12cm, 10cm

24cm, 5cm

12cm, 15cm

25. In the following figure (not to scale), AD bisects

. If  is inscribed in a circle, then∠BAC ∠BAD = 45∘

https://dl.doubtnut.com/l/_1DwA5y3EaIAL
https://dl.doubtnut.com/l/_6GFEqjZxPmDh


which of the following is the longest? 

A. AB

B. AD

C. AC

D. BC

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6GFEqjZxPmDh


26. In the given figure,  and area of the

parallelogram ABFD is 24 . Find the areas of 

 and . 


A. 8 

B. 

C. 

D. 

¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄DE

cm2

△ AFB, △ AGB △ AEB

cm2

12cm2

10cm2

14cm2

https://dl.doubtnut.com/l/_6GFEqjZxPmDh
https://dl.doubtnut.com/l/_gWpyDjlUhKm3


Answer: B

Watch Video Solution

27. In the given figure,  and  intersect at C,

such that BC = CE,  and .

Find . 


A. 

¯̄¯̄¯̄AD ¯̄̄ ¯̄¯BE

∠ABC = 40∘ ∠DEC = 85∘

∠BAC − ∠CDE

45∘

https://dl.doubtnut.com/l/_gWpyDjlUhKm3
https://dl.doubtnut.com/l/_gf0Od4RLnUnl


B. 

C. 

D. 

Answer: A

Watch Video Solution

125∘

55∘

110∘

28. In the given figure, DEF is a triangle. If DF is the

longest side and EF is the shortest side, then which of

https://dl.doubtnut.com/l/_gf0Od4RLnUnl
https://dl.doubtnut.com/l/_poxcqwm9NlVb


the following is true? 

A. 

B. 

C. 

D. none of these

∠E > ∠D > ∠F

∠D < ∠F < ∠E

∠D < ∠E < ∠F

https://dl.doubtnut.com/l/_poxcqwm9NlVb


Answer: B

Watch Video Solution

29. The ratio between the exterior angle and the

interior angle of a regular polygon is . Find the

number of the sides of the polygon.

A. 

B. 

C. 

D. 

Answer: C

1: 3

12

6

8

10

https://dl.doubtnut.com/l/_poxcqwm9NlVb
https://dl.doubtnut.com/l/_HK59NRU0NEmc


Watch Video Solution

30. Find each interior and exterior angle of a regular

polygon having 30 sides.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

144∘ , 36∘

156∘ , 24∘

164∘ , 16∘

168∘ , 12∘

https://dl.doubtnut.com/l/_HK59NRU0NEmc
https://dl.doubtnut.com/l/_fydOoUe15Ukf
https://dl.doubtnut.com/l/_8Qt49bZxxNXh


31. If , , then find the

ratio of the area of the  to the area of 

. 


A. 

B. 

C. 

BC :CD = 2: 2 AE :EC = 2: 3

△ ECD

△ AEB

2: 1

2: 3

3: 5

https://dl.doubtnut.com/l/_8Qt49bZxxNXh


D. 

Answer: A

View Text Solution

4: 3

32. In the given figure (not to scale), O is the center of

the circle. If PB=PC,  and ,∠PBO − 25∘ ∠BOC − 130∘

https://dl.doubtnut.com/l/_8Qt49bZxxNXh
https://dl.doubtnut.com/l/_ypuVsPYJUjOo


then find . 


A. 

B. 

C. 

D. 

Answer: B

∠ABP + ∠DCP

10∘

30∘

40∘

50∘

https://dl.doubtnut.com/l/_ypuVsPYJUjOo


Watch Video Solution

33. In a polygon, the greatest angle is  and all the

angles are distinct in integral measures (in degrees).

Find the maximum number of sides it can have.

A. 4

B. 5

C. 6

D. 7

Answer: B

Watch Video Solution

110∘

https://dl.doubtnut.com/l/_ypuVsPYJUjOo
https://dl.doubtnut.com/l/_YliKvE1AaIIB


34. In the given figure, ABCD is a rectangle inscribed in

a semi-circle. If the length and the bredth of the

rectangle are in the ratio . What is the ratio of the

perimeter of the rectangle to the diameter of the

semicircle? 

A. 

B. 

C. 

2: 1

3: √2

2: √3

2: √5

https://dl.doubtnut.com/l/_YliKvE1AaIIB
https://dl.doubtnut.com/l/_eDRBfrRBBhhL


D. 

Answer: A

View Text Solution

3: √5

35. In the given figure,  is the diameter of the circle

with area  sq. units. Another circle is drawn with C as

center, which is on the given circle and passing

¯̄̄ ¯̄¯AB

π

https://dl.doubtnut.com/l/_eDRBfrRBBhhL
https://dl.doubtnut.com/l/_Ocrj1VYcW8fy


through A and B. Find the area of the shaded region. 

A.  sq. units

B.  sq. units

C. 1 sq. units

D. 1.2 sq units.

π

3

2π

3

https://dl.doubtnut.com/l/_Ocrj1VYcW8fy


Answer: C

View Text Solution

36. In the following figure (not to scale),  and  are

two congruent circles with centers  and .

Respectively. Each circle passes through the center of

the other circle. If the circumference of each circle is

2cm, the perimeter of the shaded region is................ cm. 

C1 C2

O1 O2

https://dl.doubtnut.com/l/_Ocrj1VYcW8fy
https://dl.doubtnut.com/l/_9jf6vRDtZEzC


A. 

B. 1

C. 

D. 

Answer: A

View Text Solution

4
3

5

3

2

3

37. In the given figure, (not to scale), the points M,R,

N,S and Q are concylic. Find

, if O is the∠PQR + ∠OPR + ∠NMS + ∠OSN

https://dl.doubtnut.com/l/_9jf6vRDtZEzC
https://dl.doubtnut.com/l/_8lBoxUZ4f3al


center of the circle. 

A. 

B. 

C. 

D. Data is inadequate.

90∘

180∘

270∘

https://dl.doubtnut.com/l/_8lBoxUZ4f3al


Answer: B

Watch Video Solution

38. In the given figure (not to scale), AC is the

diameter of the circle and , then find ∠ADB = 20∘

https://dl.doubtnut.com/l/_8lBoxUZ4f3al
https://dl.doubtnut.com/l/_ef6OxqBCf2zi


. 


A. 

B. 

C. 

D. 

∠BPC

50∘

70∘

90∘

110∘

https://dl.doubtnut.com/l/_ef6OxqBCf2zi


Answer: D

Watch Video Solution

39. In the following figure, O is the center of the circle

and CD=EF=GF. If , then find reflex 

. 


A. 

∠COD = 40∘

∠COG

200∘

https://dl.doubtnut.com/l/_ef6OxqBCf2zi
https://dl.doubtnut.com/l/_vnWiijtBROVj


B. 

C. 

D. 

Answer: A

View Text Solution

90∘

80∘

160∘

40. In the given figure (not to scale), AC is the median

as well as altitude to BD. In , AD is the△ ACE

https://dl.doubtnut.com/l/_vnWiijtBROVj
https://dl.doubtnut.com/l/_NsiNVbDbNkkJ


median to CE. Which of the following is true? 

A. 

B. 

C. 

D. None of the above

AB + CD > AE

AB + BC = AE

AB + DE < AE

https://dl.doubtnut.com/l/_NsiNVbDbNkkJ


Answer: A

Watch Video Solution

41. In the given figure, (not to scale), rectangle ABCD

and triangle ABE are inscribed in the circle O. If

,then find . 
∠AEB = 40∘ ∠BOC

https://dl.doubtnut.com/l/_NsiNVbDbNkkJ
https://dl.doubtnut.com/l/_eqHLaH4MviCs


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

60∘

80∘

100∘

90∘

42. In the given figure (not to scale), O is the center of

the circle, BC and CD are equal chords. If

https://dl.doubtnut.com/l/_eqHLaH4MviCs
https://dl.doubtnut.com/l/_menCiwpvbJwm


,then find . 


A. 

B. 

C. 

D. 

∠OBC = 55∘ ∠BAC

60∘

70∘

80∘

90∘

https://dl.doubtnut.com/l/_menCiwpvbJwm


Answer: B

View Text Solution

43. In the given figure (not to scale), O is the center of

the circle  and AB is the diameter of the circle .

Quadrilateral PQRS is inscribed in the circle with

center O. Find . 


C1 C2

∠QRS

https://dl.doubtnut.com/l/_menCiwpvbJwm
https://dl.doubtnut.com/l/_YrBQrZWNRowu


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

105∘

115∘

135∘

145∘

44. In the given figure, (not be scale), E and D are the

mid-points of AB and BC respectively. Also,

 cm and  cm.∠B = 90∘ , AD = √292 CM = √208

https://dl.doubtnut.com/l/_YrBQrZWNRowu
https://dl.doubtnut.com/l/_t9X1qcF5Javt


Find the . 

A. 15

B. 18

C. 20

D. 24

AC

https://dl.doubtnut.com/l/_t9X1qcF5Javt


Answer: C

Watch Video Solution

45. In , P is the mid-point of BC and Q is the

mid-point of AP. Find the ratio of the area of 

and the area of . The following are the steps

involved in solving the above problem. 

A) We know that a a median of a triangle divides a

triangle into two triangles of equal area. 

B)  


C) 

D) 

△ ABC

△ ABQ

∠ABC

⇒ Ar( △ ABP ) = [Ar( △ ABC)]
1

2

Ar( △ ABQ) = [Ar( △ ABP )] = [Ar( △ ABC)]
1

2

1

4

⇒ ( △ ABQ) :Ar( △ ABC) = 1: 4

https://dl.doubtnut.com/l/_t9X1qcF5Javt
https://dl.doubtnut.com/l/_R7sDLLgrDYf7


A. ABCD

B. ADBC

C. ABCD

D. ADCB

Answer: B

Watch Video Solution

46. ABCD is a cyclic quadrilateral, ABC is a minor arc

and O is the center of the circle. If ,

then find . 


The following are the steps involved in solving the

∠AOC = 160∘

∠ABC

https://dl.doubtnut.com/l/_R7sDLLgrDYf7
https://dl.doubtnut.com/l/_1QU4HP10oth5


above problem. Arrange them in sequential order: 

A) We have,  


B) 

C)  


D)  


∠ABC + ∠ADC = 180∘

∠ABC + ∠AOC = 180∘( ∴ ∠ADC = ∠AOC)
1

2

1

2

∠ABC = 180∘ − 80∘

∠ABC + = 180∘160∘

2

https://dl.doubtnut.com/l/_1QU4HP10oth5


E) . 


A. ABDEC

B. ABDCE

C. BCDAE

D. BACDE

∴ ∠ABC = 100∘

https://dl.doubtnut.com/l/_1QU4HP10oth5


Answer: B

Watch Video Solution

47. Show that each diagonal of a parallelogram divide

it into two congruent triangles. 

The following are the steps involved in showing the

above result. Arrange them in sequential order. 

A) In  and , AB=DC and BC=AD 

opposite angles of parallelogram) AC=AC (common

side). 

B) Let ABCD be a parallelogram. Join AC. 

C) By SSS congruence property, 

. 

△ ABC △ CDA ( ∴

△ ABC ≅ △ CDA

https://dl.doubtnut.com/l/_1QU4HP10oth5
https://dl.doubtnut.com/l/_WZth8ZXpPI9m


D) Similarly, BD divides the triangle into two

congruent triangles.

A. BACD

B. BDAC

C. BADC

D. BDCA

Answer: A

Watch Video Solution

48. Show that any angle in a semi-circle is a right

angle. 

https://dl.doubtnut.com/l/_WZth8ZXpPI9m
https://dl.doubtnut.com/l/_MbvOhVuVaB4x


The following arc the steps involved in showing the

above result. Arrange them in sequential order. 

A)  


B) The angle subtended by an arc at the center is

double of the angle subtended by the same arc at any

point on the remaining part of the circle. 

c) Let AB be a diameter of a circle with center D and C

be any point on the circle. Join AC and BC. 

D)  


∴ ∠ACB = = 90∘180∘

2

∴ ∠AD = 2 × ∠ACB

https://dl.doubtnut.com/l/_MbvOhVuVaB4x


 


A. DBAC

B. DBCA

C. CBAD

D. CBDA

180∘ = 2∠ACB( ∴ ∠ADB = 180∘ )

https://dl.doubtnut.com/l/_MbvOhVuVaB4x


Answer: D

Watch Video Solution

49. A,B,C and D are concylic, AC bisects BD. If AB =9 cm,

BC=8 cm, and CD=6 cm, then find the measure of AD.

A. 7 cm

B. 10 cm

C. 12 cm

D. 15 cm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_MbvOhVuVaB4x
https://dl.doubtnut.com/l/_Eas4czuMUAUe


Watch Video Solution

50. In the given figure, PQRS is a parallelogram. A and

B are the mid-point of  and  respectively. If

PS=BR, then the quadrilateral ADBC is a…………………… ,

A. rhombus

B. trapezium

C. square

D. rectangle

¯̄¯̄̄ ¯PQ ¯̄¯̄¯SR

https://dl.doubtnut.com/l/_Eas4czuMUAUe
https://dl.doubtnut.com/l/_NarVkMN6oxcR


Answer: D

Watch Video Solution

51. The sides of a triangle are 2006 cm, 6002 cm and m

cm, where m is a positive integer. Find the number of

such possible triangles.

A. 1

B. 2006

C. 3996

D. 4011

Answer: D

https://dl.doubtnut.com/l/_NarVkMN6oxcR
https://dl.doubtnut.com/l/_9PG8beYTTzpL


Watch Video Solution

52. If a,b and c are the lengths of the sides of a right

triangle ABC with  and , then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

c = 2a b2 − 3a2 = 0

∠ABC = ……………………

60∘

30∘

45∘

90∘

https://dl.doubtnut.com/l/_9PG8beYTTzpL
https://dl.doubtnut.com/l/_kChhjlgGv7Yv


53. In , S is the circum-center and

. Find . 


A. 

B. 

C. 

△ ABC, AC = BC

∠ASB = 150∘ ∠CAB

55( )
1

2∘

52( )
∘1

2

90( )
∘1

2

https://dl.doubtnut.com/l/_kChhjlgGv7Yv
https://dl.doubtnut.com/l/_OMxwrvHqrffn


D. 

Answer: B

Watch Video Solution

35( )
∘1

2

54. In the given figure,  and  are concylic

points, and  is the mid-point of the diameter . If 

P , Q, R S

O QS

https://dl.doubtnut.com/l/_OMxwrvHqrffn
https://dl.doubtnut.com/l/_yJmjCWF6Ajr1


, then find . 


A. 

B. 

C. 

D. 

∠QPR = 25∘ ∠SQR

130∘

120∘

75∘

100∘

https://dl.doubtnut.com/l/_yJmjCWF6Ajr1


Answer: A

Watch Video Solution

55. In , P,Q and R are the mid-

points of  and  respectively. Then which of

the following is true?

A. A,P,Q and R are concylic points.

B. B,P,R and Q are concylic points.

C. C,Q,P and R are concyclic points.

D. All of these

Answer: B

△ ABC, ∠B = 90∘

¯̄̄ ¯̄¯AB, ¯̄̄ ¯̄¯BC ¯̄̄ ¯̄¯AC

https://dl.doubtnut.com/l/_yJmjCWF6Ajr1
https://dl.doubtnut.com/l/_QwCRoaAghagd


Watch Video Solution

56. If  and  are the lengths of the sides of a right

triangle, , and the hypotenuse , then 

=……………………

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p, q r

PQR r = √2pq

∠QPR

50∘

45∘

60∘

30∘

https://dl.doubtnut.com/l/_QwCRoaAghagd
https://dl.doubtnut.com/l/_ijagzV9YgRDK


57. In a triangle PQR, PQ=QR, A and B are the mid-

points of  and  respectively. A circle passes

through P,Q, A and B. Then which of the following is

necessarily true?

A.  is equilateral

B.  is right isosceles

C. PQ is a diameter

D. Both a) and c)

Answer: D

Watch Video Solution

¯̄¯̄̄ ¯QR ¯̄̄ ¯̄¯PR

△

△

https://dl.doubtnut.com/l/_ijagzV9YgRDK
https://dl.doubtnut.com/l/_U4rOGCHzdBBO


58. In the figure given below (not to scale), D is a point

on the circle with center A and C is a point on the

circle with centers B,  and . Then

which of the following is true? 

A. AD=BC, when AC=BD

B. BD=AC, when 

C. Both a) and b)

D. BD = AC is always true.

¯̄¯̄¯̄AD ⊥ ¯̄¯̄¯̄BD ¯̄̄ ¯̄¯BC ⊥ ¯̄̄ ¯̄¯CA

¯̄¯̄¯̄AD ∣ ∣ ¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_Na7UQkuo0e3L


Answer: C

Watch Video Solution

59. In the given figure, the angles  and 

differ by . Find . 


∠ADE ∠ABC

15∘ ∠CAE

https://dl.doubtnut.com/l/_Na7UQkuo0e3L
https://dl.doubtnut.com/l/_vlwkIBQM2ttd


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10∘

7( )
∘1

2

15∘

30∘

60. In the given figure, ABCD is a cyclic quadrilateral,

 bisects  bisects 

 and . Find 

∠ABC = 70∘ , ¯̄¯̄̄ ¯FG ∠CFA, ¯̄¯̄̄ ¯EG

∠DEB, ∠DCE = 60∘ ∠EGF = 90∘

https://dl.doubtnut.com/l/_vlwkIBQM2ttd
https://dl.doubtnut.com/l/_KdLQJbOrOubl


. 


A. 

B. 

C. 

D. 

Answer: C

∠HEC

20∘

40∘

25∘

45∘

https://dl.doubtnut.com/l/_KdLQJbOrOubl


Watch Video Solution

61. In the given figure,  and  are concylic.

If  and , then find 

. 

A. 

B. 

A, D, B, E C

∠ACB = 60∘ ∠AED = 50∘ ∠DEB

15∘

10∘

https://dl.doubtnut.com/l/_KdLQJbOrOubl
https://dl.doubtnut.com/l/_p3SEas7VDzG5


C. 

D. 

Answer: B

Watch Video Solution

20∘

5∘

https://dl.doubtnut.com/l/_p3SEas7VDzG5

